Jo K BB B A R A

(P FEAE A 2 B R A )

(BE - FEWEFES A=A —HIUNEA)



PHIRE

SR R AT BR N R (TAR A ]) 25 N M AS 20 ) B L 25 B 8 ) ([ A 4R
M) BE_FENE+ A=+ HIEAEA RREZGES ELH L _TT=FERM
Z W T

BHEEERER
BE+-A=+—-8H1
~1E A
—ETEMEF —EE=fF
(REER) (REER)

Wz F % F %
e 2 2,806 3,711
89 B LA (2,048) (2,902)
EH 758 809
oAt 7 5 0 2 3 12,823 18,101
HEREY ¥ — 2,854
HEHMEE 2 Ik 8,720 6,665
A A G R BT A I I S (R 11,873 (3,307)
I 5 B A T S6 4 i 43 6,489 1,774
EERE =g (3,009) (3,005)
1T A (10,918) (15,220)
28 s A 4 26,736 8,671
JRE A% B % 2 ) 22 W 18 (1,096) (4,482)
W Bl i s 25,640 4,189
BiIE 5 — —
A HA T i ) 25,640 4,189
BB 6 — -

ey eyl 7 2.1 Al 0.3 1l




HHGEEEREBER

R-BBNE R-TENEF

+=A=+—H ANHA=+H
(REEXR) (BE%)
M 3E FHT F & T

ERBEE
Y- R MR 6,096 7,531
BEYHE 4,410 4,410
HHEKRE 20,087 20,099
JRE {15 B 75 ) 2 16,560 17,656
47,153 49,696

RBEE
& 7,345 3,101
JRE iz B T 8 147 278
HC Al B i R T~ TR 3RO K A 19,548 9,446
HhEKRE 383,169 307,247
AT EAF M Bl & 199,217 453,610
609,426 773,682

FEBEE
JRE A3 B T 9 89 43
Al B AT R T T R M TR TR & 3,820 1,731
BiIE 17,614 17,614
21,523 19,388
RBEERE 587,903 754,294
635,056 803,990

BXR#E
JEEIS 10 121,609 121,609
fits 11 513,447 682,381
635,056 803,990




HRGEREEEDR

LA —H AR
g 1B AR 2 ) R 47y
Z GRE

R 8% L AE R R

B =

BE+t=ZA=+—-HL

18 A
—EENE —gE=F
(REFR) (REFR)
THA THA
803,990 818,713
- ®)
25,640 4,189
(194,574) (18,259)
635,056 804,641




HRGRERERER

REXBRIRAZRSFHE
REXBHBZREFHE
MEXBZAZREFHE
RERRELEERBZRD
HORERBEESESEEE
HARERBEESEEEER

RERREESHEBEBEBEIN
AT A LBl &

BE+t=ZA=+—-HL

NE A

—EEME —EE=F
(REEX) (REEX)
T T T T
(73,544) (124,073)
13,725 37,935
(194,574) (18,260)
(254,393) (104,398)
453,610 487,168
199,217 382,770
199,217 382,770




EREE M BRI

M

TESTRERGREE

KA B W] o A B R R T 4 B W e A e 8 2 i e R B R R
(T BB A ) S s I 15 28 5 BT A IR A Wl 2w 25 B TR (T B mi A B0 L) B % 175 B
L T A o

WEZEFFWAETZA =+~ HIEANMEA O HEEGWBHRER L REEL LB AL A
M E BN

A R B R T R T 2 R BOR St S O A B T E R AN A =+ B4R
Y S A S R 0T BR T A — B

(a) ¥

4 B 23 5T A SR [ B R b = 7 T P AR — BB E RS - B BB O B R
it SES o ACSE B AR R % 55 R P 2 HOH R BUE R

EEEHWT:
e — PR A T R TR OB A
BE@AEEE — BOER R R R R R A R



w2 W 2 O BUEDR R T
B2 _Z22ONS+-A=+t-HIEAEA

R X BEEEH REER
¥ =4 BR HE
(REER) (REER) (RBEXR) (RBEX)
T %A T %A T %A T % T
EE 3
ETEBRIEF 2,806 - - 2,806
5 (6,057) 400 — (5,657)
WG Yt 12,030
R A % 2 i A 8,720
A A 3 R B
JIT 45 T 0 AR 11,873
7 5 B AN TE 5840k 25 6,489
A fig 43 Bic 42 1 B 52 (6,719)
#2285 Uik 26,736
JHE Ak B A W) 2 s 1R (1,096) (1,096)
5% 4 i das 25,640
BLIH -
2N RER ] 25,640
BZE_ZZ=Ff+-HA=+—HILXEA
R R BEHEH BREER
¥ =4 BR HE
(REER) (REER) (RBEX) (ﬂi@%ff?)
T %A T %A T %A %
EER
ETEEIIESF 3,711 — — 3,711
5 (7,526) 455 — (7,071)
o Ath 725 7 i A 396
g g 17,107
HEREYE I 2,854
A B B S 2 g 6,665
A A 5 R B
JIT 15 1% 5 18 (3,307)
K 58 A1 TR S0 25 1,774
R BE 4 e 48 19 B 52 (9,747)
#2285 Uik 8,671
WEEW#/\EZEE (4,482) (4,482)
5% 4 i ¥ 4,189
BLIH -
A% A 35 s A 4,189



(b) BN

ASE R 2 S A A i S N RILANE ([ ) -

SEFT AT A H SRS 2 AR R

MR AL LT 2B

RETIHE S 2 EEHR BERAN (FB) B/
BE+t=-A=+—-81t BE+-A=+—HL1L
NEA N{E A
—EENF —EE=F —EENF —EBE=F
(REER) (REER) (REER) (REER)
T H T T H T T & T F#H T
Hilk 67 140 (1,366) 2,441
i 2,739 3,571 (4,291) (6,405)
Ik — i AR - - 31,978 10,129
Ho A — — 415 2,506
2,806 3,711 26,736 8,671
Hih B W=
BLEt+t=-—A=+—HL1L
N{EA
—EENE —BE=F
(RBEX) (RBEXR)
T % T#H LT
B A
— RATAE 2,253 1,308
—BHRE 10,144 16,331
& Yy S A i s BRER AN BB 350 385
Al A 76 77
12,823 18,101

BEHRA

A T AR (FHEA) T840

EN NG A YE
AR WS B 2 (s e 4R

BR

BEt+t=-A=t+—HL
NE A
—EENF —EET=F
(REEKR) (REBER)

F# T F#EA
2,108 2,627
(35) 79

R A 2 B O T 2 ) A i 2 AR B AT R 4R L B R R T R o AR AT AR AT

145 -



7% A A R 2 ) A G A s T 5 A e 25 316 R 5 IR T AR B > S A AR L I 4R A
S VL N R RS B S R A BT B 4R A AR > TR R R R TEL R R A U R 2 e
’E
FRAHFRARERIEFZFWAETFZAZT—HIEAEAPHRE (T4 -
BEREF
BEZEFFWNEFZH =+ — B RS Z 8 B AR B R T $ 8RR RS 2 T R
25,640,000% 7T (= FF = 4F 1 4,189,000%s 70) M I 1A © #5171 2 Jin HEF- £ i $11,216,090,400 ¢
(= FFZAF11,217,240,4008) 5H5 -
S0 7R ST 0V A L P 2 TR0 TR R R R R v 2 R
& W AR 1
AEBMG THF ZIRRWTFH A+ 1K
JRE B ) MRk 2 MR R 4 BT R

R-ZZZONFE R-ZTZTOEF

+=—HA=+-—~H NA=+8H
(REER) (&%)

T &AL F#E L
ZxE=1H - 184
=t —EANTH - o4
3 7S+ H 147 -
M 147 278
FE 4 BRI

OB AT R T 22 B % 20 0 S

R-ZZTNE R-ZTNF
+t=BA=+—-R K~A=+H
(RBER) (BER)

F# T T#H LT
£ =+1H 28 —
R R TaR e 18 -
LR TN ol | 43 43
k] 89 43




(10)

R 7

BRAEE BRAHEE
R-ZBENF R-ZBZENF R-ZZEME R-ZTENF
+=ZA=t+—8H ~AA=+H +=ZA=+-—H ~B=+H
(REEXR) (BERZ) (REEXR) (RER)
F# A F# T
SREE0.108 T
P
A B R &5 7 2,000,000,000 2,000,000,000 200,000 200,000
AT Rt R
W& 17 1,216,090,400 1,217,240,400 121,609 121,724
J A5 1m0 B - (1,150,000) - (115)
LiE S 1,216,090,400 1,216,090400 121,609 121,609

AN ) B AR ) 2 B 2 E AR 3 TSI S A o B O I A AT AR Y W) 2 b T R R

& &

BE—_RERwE+ _A=+—RL<EA

K % #l X EX RENE RE RE
HE KERE i 4 fE EfEE 4 B E
(RBBH) (REERK) (REBR) (REER) (REBHR) (RE2K) (REBHR) (REBHR) (REER)
FEL FEL FEL FEL FEL FEL FEL Fi&L Fi&L
ZEFMELA-H
LER 239,544 3467 1,000 18 (115) 997 194574 242806 682,381
AR - - - - - - = 05640 25640
RH L EA MRS - - - - - — (194574) — (194574)
“EERE
TZA=T-H2KH 239,544 3467 1,000 18 (115) 997 - 2685% 513447
BE—BRE=%+-_A=+—B1xEA
B % $Al X EX KE RE
HE  REEE e e 1 1 pedil @t
(RB%R) (REER) (REBR) (REER) (REBR) (REBER) (REER) (REER)
T T T FHL FEL T T T
SEFEELA-A
LER 239,778 3352 1,000 18 (115) 18,259 434,697 696,989
B A W Bt Q) - - - - - - 2)
AR - - - - - - 4,189 4,189
o L EAMR S - - - - - (18,259) - (18,259)
“EE=R
TIAZ TRz &R 239,776 3352 1,000 18 (115) - 438,886 682,917

_9_



(12) BREE
RCFER=ZFET A =T AN FR T M E A A 2 — S SR R AT AE A AR
A £ #23,400,0000 6 2 SR A M- iR “EFE=ZF T A =+ — B A & A 7 E
B o2 5 s B IE -
W TREPWAESZH = — H o AR E R AR N T AT T R A e

(13) BAEALRS

I R A B A o A T 2 A 42360,0009 T (T E =4+ = =+— H : 360,000 7T)
T—HET BIRE LRI EZ TS

L 2 DT 7 L 46 B 00 17 353 L 6104 s o
EEEZWMERAMN

i
&

M

A 45 | i [8] A A 8% 15 25,640,000 G T i Al > Ho LR R B3NS 1265 - B A B F
& TR & M A 2 s S R HE B AR R e A A S T R E AN A B T AR 2 R
5 BV 0 45 11,873,005 I M K A1 REE S 4 T 2 A 2 oK 48 B IR %5 6,489,000 J0 o F11iE T
18,362,000%5 7T A 52 Bl Y 35 > A% 1A %88 B %5 I 24 7,278,000 TG

EBEBERATSR

A 2 [ G b A e I B e A e A A SR P TR B A A SR o A L
A > AHA BE A5 B9 Z88H B AR LE 25 4R W] 3913807 905,000 T > BV L 25 4F [A] 3 380 24.4% -

A it R TR R ] A T 3 R TR R R AR SR R AT AR M AL Y B 4R R R 5
4 2 B R T A L B B T 3 o 5 A S DL IR A A O 2 4 JE Y B B S el R R R
E SRS R

B EH

S T 4 ) A A U o B AT R A T 0 BN I
T T U L) 2% o B I O R 0 DR o TR A ) A (R
057 5 TR B 2 R S R A 2% R T A KR B 6 o 1 4 88 5 A
5 A B AT o M B R SR 0 91 A S A £ R 0
T BAE S 4 o

- 10 -



Bl 25 A SR T BT 0 3Rk R B R T R SR TR RO RS A R
AR AR B SRR A R O B RN B

# A

s

A B T A — R ¥ A JL B S AR A B BB AR 1 AL A o R I R A B2 ) B 45 11,873,000 T
A H A I G R A 2 R A B R o FE R SE TR SIS B ) AN AE I LG E AT R
A A S F% Y B Wb o B > AR 4R IR ) K B 15 6,489,000 JT 2 A 8 B A FEE S 3R i £ -

TR R

B 8 W) 2 fRE R A AR B > A5 A A A~ 2R B SORE SR FORs S 2 I S o T 8
B o S T it ) D2 ) DR RA R T Mg R T g U D A KO Y AU S A
Slf BRCAT B AR A S AR o AR 4R I I B i 2 (] ORBR MEAT A T A R i D 28O T
Z R R R B o 7 A B E W B T R RE B R O A A% O S AR AR G B il BT

s

Ui

AR T 2 BRAS 5 IR DU B I 4 B B0 SEHT BE R > AN SR T B OR 2 AR T RE TULAT T L
EFES

BERFMBEE

A FFPAE+ A = H o A R A s A0 B LB 201924 AWk R B e A2
AT 2 AR BTN DL B TR B SRR % 3 R A A R R AR e AR R i 2 R
R LA 0 A A~ B R B 3R B AE AL R 8 5T U P
RBETRUMBER

AEMBIE —FENES A=+ —HILEFE 2 FTEESKIFE TR BRGNS 5
2 AE K %5 3 B8 45 33,000,000 IC

W ZEEPWEL A Z+— H AE R AT 8 LB 44 /45199,217,0009 7T K (8
{H £5403,256,000%5 7T 2 78 F G KB 0y 2y B35 45 > DL 36 70 S BRI A W (8> 48 k0
TEZTESKA (AR

B8 i A 42 T T 48 48 2 6 TS JE T T 2 A1 I S R RV B S K DR Ik s T 2 A A AT o] i S Bl o

W ZFRWAE A ZH = H o ARG A T A Y A AT R A R

—11 -



AHRBREFRAT AR
B —FRUEF A=+ I ABBEEN M T

BE-Z20NF REEHR REtER

NA=Z+HLE FHSHE k-l
T # T FHT FHT

(a) TEFW K PEMERA S
[IXESSE] 5,752 1,248 7,000
(b) 77 Wb b I B R M e 20,202 702 20,904
(c) BFJE VAR KO8 RR E O 7,148 1,096 8,244
A5 33,102 3,046 36,148

EX - IRTRAEBRRO -HBARORES ZESERKXE

B EFNE+ A AR RS ES TETHAR REEZHEALRAL
) B LG T B AT B O AR R S 2 R0 B R 91 58 35210k BOAR 48 A S A 22 B T A R
Al g B AT b SR b o ) AT R R A S AR E S I 2 B E L
B AN T BB S T 2 e AR B By B R 2 MESE 0 R

RADRRAEECIOETZHA

BEEHS EEHE TERMOEAR BHAE D
B it HELERE (W) 867,010,000 71.29%
i A W Hu#EA A 500,000 0.04%
LI R Hu#EA A 370,000 0.03%
W 3

I %5 B 7 fH Linwood Services Ltd. ([ Linwood | ) £ > Linwood 2 48 % B 4> (4 & ji* Linwood & #f E2
AT A) HIl B Money Belt Worldwide Limited ([ Money Belt] )$#47 > Money Belt/s — % jit % J& 4
o B B sk M R oL 2 4 A AR B 8 AT I ¥ b1 2 56 AHSBC International Trustee Limited DA 4
HECZ A el E T A28 AEBARE LA RKEERE -

- 12 -



Br ESCHT e 40 A ERATHABRWHF 2HRALR - FFWESF A=+
— AR R A 2 ) AT A I O R A B RO AR R R R ) B R 9 35200 S R R A2
Iy ¥ ) 22 e Ay ~ A Bl M e £ 5 o B A AT AT HE i S IR

BREE

ARG RVECAT 0 S P HE ST ) R J A T S8 K (] T B A R OBE AR B R A S AR
STH- R —NNEFTAZT A AR R RN T — W8 ([HF# ) 78
REH N o AL R T 2 A DR B AS SR T T A B Ak S R 0 B )
Wz B EH ) A R R A R R

Fifta DRSS+ 2B AR FRE ZF R WAE+ A =+ B 8T 2 BRORE 4
R 0 2 R G2 A L ) B PR AN T — TEUT SRR R ) (TR R L) o AR R A AR
505 G B % A ] B

ARAEHT w3 AL H 2 P A B AR B A SR T A AT B R L A R 2 AT
i 2 ) B At R A R R R RO AR IR AR AR R R v KR A
oy A B Y PR A B T AT T A B R AR R A AR 2 R

B T ERPAE+ T = — H ks A R MR T R84 AT ] R A

B b ST 45 5 A o I ST P AT AR R (] > AR 2 ] AT ] B JaE 2w AR SR AR AT AT 2 B B
AN ) 2 S AT R AR 2 R BT TR Ak A B R A T A o 4% S o B
FCPE A B N BE LR 22 o T T R R A W) 2 R I AT (AT AT R AN 2
i 75 2 HE R o

FERR

R FWAE A ZH = — B IR S M B R 0155 336 B AE AR RIH TR A7 28
RO BT 7R - R B SO 45 % A TR S i o AN O R S S R AT AR B A A T M
5 5 XV 403 i 7 90 B 2 A SR

BETREEATAREESTA

B EEHE SR (TSP R S A4 B 2 BLE 6T WA 0 B ZEDHR 48 AR 24 W) 22 2 ) 4 Bk S

i (L 17 AR B A AR K B b SR AT A AR 28 LR o AR T T 3 A TR — T A B ST
HY o

— 13 -



AN R EL SR A B TR SRR Bk - T o BR ST Ao AN R LR M 1) 45 R A AT AR
AT Ao 72 SRRV S B 2 SR A% o P W R R AR A > A RS AR S ) 2 B

ABRZ EWREEIA0(1)HF

LTRSS 3 10 BAE  ETTEIT AR R g UHEEE D =B AT E S
5 8 57 JF BUA T HE 6 JHAT A b T B B A 31 34k P 8 A ) R

A FFPAE+ A B HGE b — 28 5 IR AT 3 S e A s AR SR B TR AT
BB Nt SO R R BT

B % A J AR AT S AR O DR AT S R N m R R B R OR REAT & bR
Eaa0fk- AN R EREG LA ED =B AT HE BT

AAFER ZFEZNET A+ ARG RRESRE EREM AW ek B EALNT
COE A o

EREES

A% 22 B o O [R] AE BE At AS 4E  T BR A o  BORE RE  S A E E
S5 o A L A R B OR B AR v B S R R AT BE T o A & B R AR A
28 B — 24 IR AT W K A 2 AR e = o 8 5 AT R R B A e AR SO R S AR AT
KW SEtE

BEESEEEAQARA LHES

W TN H = Hk R A R AR T AT e B JE 2 R AE A 3 SIS
B O I A T AR R B

T —EEHAE=+/NH

_ 14—



